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Problem 1

Dijkstra:   Initialize: 
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Problem 1

BMDP:   Initialize: 
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Problem 2

BMDP:   Initialize: 
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Problem 2

Dijkstra:   Initialize: 
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Problem 3

Problem 4:  Assume that the shortest paths from node 1 to all other nodes are 
found and are have lengths j, j1.  If link (i,k) increases in length, paths that 
do not traverse link (i,k) are not affected by this change.  Therefore, we can 
initialize Dijkstra’s algorithm as below and proceed as in regular Dijkstra:
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Problem 5: Trivial

Problem 6:  Dijkstra won’t work.  Floyd-Warshall 
and BMDP will work as long as there are no 
negative cycles.  For acyclic, algorithm based on 
topological ordering is the best.

Problem 7:  Look at the reference given. 


